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./world.sh
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./RunHanitu.sh

P AT Hanitu > @ 3 67 GUI [ 32 - ]+ 5 & terminal #; »

./RunHanitu.sh --no-plot
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./flysim.out -daemon 8889
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2. Spike.txt : BB # A2 neuron # 4 spike cfp M T o % 173 % 5 7
> w5 ERE(0.1ms) ~ # * 5 ID ~ m#kA 1D ~ neuroniD ~ neuron type(4 &
sensory ~ motor -~ brain) -
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B world_config.txt & M

SetWormInf /[ B 423% T &

\\\Xr

ki

UserID=0// 5 & % —gsn%,i“\o [
WormID=0// F - ffe*’#—*ﬁ'v’é‘;*p SRR AMEBEFSRYE K0 B

InitialX=0 // Initial X Y 3 fiehj=4o=% » H =5 0.1mm(- # iEdg) - L2 i
FREEmT AL T J%";F\ ii*)a—,’f—!'i’ﬁ”ﬁ’ 7?&%515&%?\5\—

InitialY=2

Wormsize=1// Wormsize 3 & W84 < -] » Size=1> * & A& - B LT
0.1mm =[]

Time_decay=0.1// 4 & - P €442 Pkl 4 B(H 4 Eod-45@ 5 100)
Step_decay=0.5// * % 4 - H T4 4 B

Filename=Circuit.txt // & 3% A48 &

UserlD=0// F&#ij» 5 &4 > b Aple RN 2 #7DERREE B
WormID=1

InitialX=0

InitialY=-2

Wormsize=3

Time_decay=0.1
Step_decay=0.5
Filename=Circuit2.txt

EndSetWormInf

SetWorld /| B 4038 T35 8 S 8c8? 8 3 &
WorldPar /| y“ it 7 8 53 5> %

Nutrient=20 // v 3| G4 & F F=pF > 7€ W end &8

TransformA=10 // firing rate(Hz) = TransformA x [Odor] (mM) + TransforB *
5 F RIER S LR T4 5~ o spike train <0 firing rate

TransformB=5

Boundary=50// ¥ =5 0.1mm - #RAK &5 50 LT X & Y il
Smm =g 2 p

Type=0// :EH 4> 5~ type=0 *7F chf 8> T d -type=l § - &4
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Depth=0.264// & R g & > #22-EkA Y » 27 { &
CountMode=1// % 5 1> &% #® % ¢ Fl i migbH D

FoodLocation// "™ A& T 8 fH cnfFfH iz i

FID=1// &% e ID > & 7@2@?]/\ P ARG IIRAE R

X=1//XY 2 & =% » E=3 0.1mm

Y=2

Count=100// & # ehix &

Diffuse=0.002 // #+x%#k > Ei=5 2

Seccm % T e 2 F % engd Bin

Concentration=100 /= i» & $ 1k & (mM/count)

Delay_time=10000// & i &8 & B 4p2 o 5 4 § » R > fg~ chl =3
0.1lmsec

FID=2// %73 54cay &4y~ > RIVAR I 1555 20 A 4 95~
X=1

Y=1

Count=10

Diffuse=0.00005

Concentration=10000

Delay_time=72000

EndFoodLocation

MoleculeLocation //# $» #7k T_f > & $ 738 %
CID=1

X=3

Y=2

Count=10

Diffuse=0.00005

Concentration=10

Delay_time=72000

EndMoleculeLocation

EndWorldPar
EndSetWorld



B Circuit.txt % 3P

Total_neuron_number=9 // #+ & # & % 5L Hp

NeuronID=0 // # & = (brain neuron) % » 50 B 4>
C=0.5 // Membrane capacitance (nF)

G=25 // Membrane leak conductance (nS)
NRevPot=-70 // Membrane reversal potential (mV)
ResetPot=-55 //Reset Potential (mV)

Threshold=-50 // Spike threshold (mV)

Refperiod=20 // Refractory period (timestep = 0.1 ms)
Spikedelay=18 // Spike delay (timestep = 0.1 ms)

MembranceNoise // Membrane noise (current)
std=0.005 // Standard deviation

mean=0.1 // Mean

EndMembranceNoise

EndNeupar
ReceptorPar

Receptor=0 // Receptor %% » #£_0 B 4>

Type=0// Receptor #F3] » P F L& - f& > %@k 7 0
Tau=20 // Channel time constant (ms)

RRevPot=0 // Channel reversal potential (mV)
EndReceptor

Receptor=1
Type=0
Tau=20
RRevPot=-70
EndReceptor

EndReceptorPar

Targetneuron=1// T %A 5 < %5



Receptor=0

Weight=5// 3% & = Weight x G (nS)
G=25

EndTargetneuron

Targetneuron=8
Receptor=0
Weight=9

G=25
EndTargetneuron

Endneuron

NeuronID=1// B 423k @7 — 3p#4 5~

[ v%]

Endneuron

Communication // 3% i » » #j 1 » g £ 2 Fd 4 g 5 e
Inputneuron // 3% fr;ﬁﬁj ~ A1 & L (sensory neuron) =% #ic

NeulD=0// #j » 4! g~ e

Receptor=0 // ¥ = }+ #5 &£ 4 Z_;uﬁig?] ~ i1 receptor type

Weight=1 // & #35 &

G=25/ ¥ Hix5 nS

Type=0// . 4 52 i & 4] enf] gc(type=0) » B £33 4 el e
(type=1)

Direction=0 // #&ﬂ’z@?] ren? e oo F=0 T=1 2=2 +=3

NeulD=2
Receptor=0
Weight=1
G=2.5
Type=0
Direction=1



NeulD=4
Receptor=0
Weight=1
G=25
Type=0
Direction=2

NeulD=6
Receptor=0
Weight=1
G=25
Type=0
Direction=3

EndInputneuron

OutputNeuron // % ?JL?J I A g~ (Motor neuron) > — £ R v oz B kA HE

i

NeulD=1
NeulD=3
NeulD=5
NeulD=7

EndOutputNeuron

BodyPar

Mcm=25// &# 4 S~ 2 E > =i nF

Mtau=10 // EH 4 &~ AMPA < f8chpF 4 k> ¥ = 5 msec
Mweight=10 // 38 4 5 = 455 b iy 140 S5 = il 5 %
Msilence=20 // & #:4) 5~ g ok ik ¥p (timestep, 0.1ms)
Mvth=-50// &4 TR ET = =i mV

MvI=-70 /] &84 Gk T 2> Hixi mV

Mreset=-55 // &# # 5 ~ 7 Reset Potential » = 5 mV



SFcm=25/ 8% AR EH F~g @ Ei=5 nF

SFtau=20// 8 A FH S WMapFm ¥ 8> H =5 msec
SFweight=10// a8 # AR EH T2 X F R R %R

SFsilence=20// & 4 3| =R & 4 55 = ¢ refractory period (timestep, 0.1ms)
SFvth=-50// &4 AR i S~ chR BT = =3 mV

SFVI=-70// &4 A g 4 s AhF T = =5 mV

SFreset=-55// & # A ¥ 4 & ~ 1 Reset Potential » ¥ = 3 mV

SCcm=25// m 7™ L& F A B4 5~
il

SCtau=10

SCweight=10

SCsilence=20

SCvth=-50

SCvI=-70

SCreset=-55

\\\Xr

o g afll@eiy 5o fdic

EndBodyPar

EndCommunication
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